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SECOND LANGUAGE: ENGLISH

Directions (Q 1-5): In questions below out of four
alternatives, choose the one which can be taken as a
substitute for the given word/sentence.

1. State in which the few govern the many

(a) Monarchy ((b) Oligarchy (c) Plutocracy

(d) Autocracy

2. A style in which a writer makes a display of his
knowledge

(a) Pedantic (b) Verbose (c) Pompous (d) Ornate

3. List of the business or subjects to be considered
at a meeting

(a) Schedule (b) Timetable (c) Agenda (d) Plan

4. Leave or remove from a place considered
dangerous

(a) Evade (b) Evacuate (¢) Avoid (d) Exterminate

5. A prima facie case is such

(a) As it seems at first sight (b) As it is made to seem
at first sight (c) As it turns out to be at the end (d) As it
seems to the court after a number of hearings
Directions (Q 6-10): In the following questions
choose the word which best expresses the meaning of
the given word.

6. Bold

(a) Timid (b) Turn (c) Brave (d) Flow



7. Cold

(a) Tricky (b) Icy (c) Quiet (d) Silence

8. Calm

(a) Catch (b) Quiet (c) Mock (d) Noisy

9. Odd

(a) Ordinary (b) Strange (c) Uniform (d) Wonderful
10. Brutal

(a) Bind (b) Exempt (c¢) Cruel (d) Disappear
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(a) 15 km (b) 16 km (c) 20 km (d) 25 km
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